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1. ø‘ò�.ÌGíZ(, w�(Ñ
−→γ (t) = (0, t2 − 1, 2t), 0 ≤ t ≤ 1� vZ(í(ò�

δ(x, y, z) =
√

y + 2� °Z(í”¾2-�

2. ²¾Ò
−→
F (x, y) = (x, y), �( C Ñ�Æ x2 +

y2

4
= 1� à(	}íì2òQl�

∫

C

−→
F · −→n ds D

∫

C

−→
F · −→T ds 5M� w2, −→n [�Æ C ,í%ÕÀP¶²¾,

−→
T Ñ•

�Æ C Lv‡j²‡ªvíÀP~²¾�

3. I²¾Ò
−→
F (x, y, z) = (ex cos y + yz, xz − ex sin y + 1, xy + ez), C Ñâ (1, 0, 1) ƒ

(1, π, 3) í�²(¨�

(a) °
−→
F íP?ƒb�

(b) °

∫

C

−→
F · −→T ds 5M�

4. I²¾Ò
−→
F (x, y) = (y sin(x2y2)− y, x sin(x2y2) + x), C1 Ñâ (2, 0) % (0, 0) ƒ

(0, 2) í�²~(, C2 Ñâ (2, 0) |ê, •Æ x2 + y2 = 4 Lv‡‡ªƒ (0, 2) í�²

�(�

(a) °

∫

C1

−→
F · −→T ds 5M�

(b) °

∫

C2

−→
F · −→T ds 5M�

5. I C Ñ�Æ 2x2+3y2 = 1, Lv‡j²‡ª, ²¾Ò
−→
F (x, y) =

(

x2 + y2 − y

x2 + y2
,
x2 + y2 + x

x2 + y2

)

�

°

∫

C

−→
F · −→T ds 5M� ·<, Ÿõ.Ê

−→
F íì2�q�

6. °Æ6 x2 + y2 = 2x \7Þ x2 + y2 + z2 = 4 Fi¶}5Þ	�

7. q −→u = (a, b, c) ÑÀP²¾, Ê�Þ ax + by + cz = 0 ,JŸõÑÆ-íÀPÆà C

[ý, C D −→u íN²Aø¬GÍ� I
−→
F (x, y, z) = (3y − 2z, x + 2z, 2x− y),

(a) °

∫

C

−→
F · −→T ds�

(b) ½
−→u Ñ¨øj²v,

∫

C

−→
F · −→T ds |×? |×M¢uÖý?

8. q²¾Ò
−→
F (x, y, z) =

(

x3

a2
,
y3

b2
,
z3

c2

)

, °

∫∫

S

−→
F · −→n d σ 5M, w2 S Ñ�7Þ

x2

a2
+

y2

b2
+

z2

c2
= 1, −→n Ñ�7Þ,í%ÕÀP¶²¾�

9. °7Þ x2 + y2 + z2 = a2 Ê�ø¶Ì (x ≥ 0, y ≥ 0, z ≥ 0) 5¶}í$-�

1



10. q²¾Ò
−→
F (x, y, z) =

(

y, x2, (x2 + y4)3/2 sin(e
√

xyz)
)

, S Ñš_�7Þ 4x2 + 9y2 +

36z2 = 36, z ≥ 0� °

∫∫

S

(∇×−→F ) · −→n dσ 5M, w2
−→n Ñ�7ÞN²ÕVíÀP¶

²¾�
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